PWo

ZRhil
BEE(1EE
o EMTE OFARRIM

oA ENRARIRE
o BTk o itk e i

< ZIEAFE FH 8:00~17:00 >

21%:0769-22388554
#2:0769-23366411

E-mail:info@pwdcn.com
www.pwdcn.com

IRl 52 15 1

NICRBENRENT IR

PROVIDE PROFESSIONAL TRANSMISSION SOLUTIONS FOR YOU.

FRES— MERE HFEE BREE

QUALITY FIRST CUSTOMER SUPREME CONTINUOUS IMPROVEMENT PURSUIT OF EXCELLENCE



PWo

IHSOEE IR EBRAT]

PAWENDI TRANSMISSION DEVICE CO., LTD



www.pwdcn.com

AKZRF (FRZEIERD AF %5 5 2 454D

Support Unit AK

(fixed-side rectangular type)

Support Unit AF
(Supported-side rectangular type)

%% /ParkNo. | &3 &8/Park name

1 B 7 FEZ< 88 /Housing 1
ig #msk/ParkNo. | #Bs: &78/Park name #E/Qty 2 ##7%/Bearing 148/1set
fommmmm BCA° ) b A JX* --r- 7'l 1 HiFKEZH/Housing 1 3 cE43N8/Snap ring 1
: — - 2 #h7&/Bearing 14H/1set
©)—r & ?I E 3 [E#%/Holding lid 1
o 4 £fi/Collar 2 A F
L 5 HhEt/Seal 2
: 6 SHE|4218/Lock nut 14H/1set
7 7S F AT IR AR R 2
L1 L Hexagon socket-head
! Setscrew(with set piece)
AK10~AK15 2-O X% 0 YHRIRZ
2-X drill @Y counter bore depth Z
L2 L3 B1 ‘
2-O X% O Y#iRZ
2-X drill @Y counter bore depth Z |
4 T
| ( : ! ’
C% R : | | | : 4
\ L ‘ L o
ol e H SRR A — edl}m 777777
, ; L H1 L \ . / /
fommmeo ~Gdt | o | o .
, ,/ H T i ‘ e e
0]z H1 | N 1 i |
R h| || L | o |
R | | . b ;
I : | P ! :
| | L=
- C1 C2 B L
L1 L
\
B {I/Unit:mm B {iI/Unitmm
ny | AE B dhﬁ AWK | ERCEmR
Model No.| “J Model No. Bearing Snap ring
AK10 10 315 AF10 8 60822
AK12 12 24 6 315 6 70 43 35 25 36 35 52 9 14 11 M4 19 - - AF12 10 20 70 43 35 25 36 35 52 9 14 11 6000ZZ S10
AK15 15 25 6 36 5 80 49 40 30 41 40 60 11 17 15 M4 22 - - AF15 15 20 80 49 40 30 41 40 60 9 14 11 600277 S15
A K20 20 42 10 50 10 95 58 475 30 56 45 75 1 17 15 M4 30 22 10 AF20 20 26 95 58 47.5 30 56 45 75 11 17 15 6204727 S20
T REIFHEIEZETHE Surface Special treatment is available HESRESHEIEZETHE Surface Special treatment is available

(0K} www.pwdcn.com www.pwdcn.com [0§4



www.pwdcn.com

BKZ %1 (75 FZ &l £ {2
Support Unit BK

(fixed-side rectangular type)

Support Unit BF

@%k/ParkNo. | £B% &#/Park name

BF &%) (75234518

(Supported-side rectangular type)

87 288 /Housing
2 #h7%/Bearing 148/1set
3 [E#R/Holding lid 1
4 Efii/Collar 2
5 imEd/Seal 2
6 $H[E 4208/ Lock nut 148/1set
7 vz EARE ATy 2 B 7R EEZSBE/Housing

Hexagon socket-head i

Setscrew(with set piece) 2 ##47%/Bearing 148/1set

3 cEYHIR/Snap ring 1

BK

2-OXi#zF 6 YRIRZ L2 L3

BF

2-X drill 8Y counter bore depth Z M g:fgﬁ%g:ﬁﬁir bore depth Z
4-6dz ® ® B1 ‘ 4-6dz
: , + VT
~ joiie] RIS R S [
Sy ; ; L ‘ L/ \ IO
. L e - / o | ! ! ; I
e / Bl W s o
Bl ISNe]= HTL g ‘ L : /
hoyl Y WL ‘ PR el
o RN ) | O |
‘»—iﬁ ® I i [ i | Lilﬁi i iiii i
| o1 ic2 1 ‘ b 1 1
| 1 p 1 ‘
u L B )

BE{i/Unit:mm

BE{iI/Unit:mm

my | AE | alo ny | ME ERMK | EACENR
Model No.| “7 Model No.| “j Bearing Snap ring

BK10 10 5 315 5 34 325 46 6 BF10 8 325 608722

B K12 12 25 5 315 5 60 43 30 25 34 325 46 13 6 66 11 15 M4 19 18 55 BF12 10 20 60 43 30 25 34 325 46 6.6 11 1.5 18 55 600022 S10
BK15 15 27 6 34 6 70 48 35 28 40 38 54 15 6 66 11 65 M4 22 18 55 BF15 15 20 70 48 35 28 40 38 54 6.6 1 6.5 18 5.5 600227 S15
BK17 17 35 9 44 7 86 64 43 39 50 55 68 19 8 9 14 85 M4 24 28 6.6 BF17 17 23 86 64 43 39 50 55 68 9 14 8.5 28 6.6 620327 S17
B K20 20 35 8 43 8 88 60 44 34 52 50 70 19 8 9 14 85 M4 30 22 66 BF 20 20 26 88 60 44 34 52 50 70 9 14 8.5 22 6.6 6204727 S20
B K25 25 42 12 54 9 106 80 53 48 64 70 85 22 10 11 175 11 M5 35 33 9 BF 25 25 30 106 80 53 48 64 70 85 11 17.5 1 33 9 620527 S25
B K30 30 45 14 61 9 128 89 64 51 76 78 102 23 11 14 20 13 M6 40 33 11 BF 30 30 32 128 89 64 51 76 78 102 14 20 13 33 11 620627 S30
B K35 35 50 14 67 12 140 96 70 52 88 79 114 26 12 14 20 13 M8 50 35 11 BF 35 35 32 140 96 70 52 88 79 114 14 20 13 35 11 620727 S35
B K40 40 61 18 76 15 160 110 80 60 100 90 130 33 14 18 26 17 M8 50 37 14 BF 40 40 37 160 110 80 60 100 90 130 18 26 17.5 37 14 620827 S 40

ETRMEFKREIEZ 5T Surface Special treatment is available

(O8] www.pwdcn.com

ETRMEFREIEZ 5TH Surface Special treatment is available

www.pwdcn.com [0



www.pwdcn.com

EKZR % (FE E D
Support Unit EK

(fixed-side rectangular type)

2-O X% O YIliFZ
2-Xdrill @Y counter bore depth Z

2-O X#% O YMiRZ
2-X drill @Y counter bore depth Z

BISR
Model No.

E K06
E K08
EK10
EK12
EK15
E K20

N
iR
hiH |0
i
Ll
|
|
|
LI
shaft
diameter
8 23 7 26 4
10 24 6 315 6
12 24 6 31.5 6
15 25 6 36 5
20 42 10 50 10

52
70
70
80
95

32
43
43
49
58

26
35
35
40
47.5

ETRMEFKREIEZ 5T Surface Special treatment is available

(0] www.pwdcn.com

17
25
25
30
30

25
36
36
41
56

26
24
24
25
25

1

2
3
4
5
6

38
52
52
60
75

&7 FE 7 38 /Housing
&7 /Bearing

4R /Holding lid
Ef&/Collar
HE/Seal

$H[E4218/Lock nut

P75 f SZ TR AARTER Fr
Hexagon socket-head
Setscrew(with set piece)

E{I/Unittmm

e oo L ]t e e e

6.6 1 12 M3

9 - - M4
9 - - M4
1 - - M4
1 - - M4

£ & & #8/Park name #E2/Qty

148/1set

14
16
19
22
30

EF &%) (5 #2345

Support Unit EF

(Supported-side rectangular type)

45%/ParkNo. | %58 &78/Park name

B 7R EEZSBE/Housing

&7 /Bearing

cEYHIR/Snap ring

148/1set
1

2-OX#E%F OYHIRZ
2-X drill 8Y counter bore depthZ

BIgk

Model No.

EF 06
EF 08
EF10
EF12
EF15
EF 20

EF

4-6dz

BE{iI/Unit:mm

. 1& 15 R EhR fERCENIR
lameter Bearing Snap ring

6
8
10
15
20

14
20
20
20
26

52
70
70
80
95

32
43
43
49
58

26
35
35
40
47.5

17
25
25
30
30

25
36
36
41
56

26
24
24
25
25

ETRMFREIEZ 5TH Surface Special treatment is available

38
52
52
60
75

6.6

1

1"

12

606ZZ
60677
608ZZ
6000ZZ
600277
620477

S6
S6
S8
S10
S15
S20

www.pwdcn.com [8¢]



www.pwdcn.com

FF&5 (323451

FKZ 5 CERFE E /)
Support Unit FK

(fixed-side rectangular type)

Support Unit FF
(Supported-side rectangular type)

% /ParkNo. | %3 &8/Park name

1 &7 FE 7 88 /Housing 1
2 #f7%/Bearing 148/1set £ & % #8/Park name
3 [E#/Holding lid 1 1 B A~ B&/Housing 1
4 Efz/Collar 2 2 ##7%/Bearing 148/1set
5 ihEt/Seal 2 3 B3N8’ /Snap ring 1
6 SHIE4218/Lock nut 148/1set
P75 F XTI A4 R ER
7 Hexagon socket-head 2

Setscrew(with set piece)

L L1

‘ | 90°

/®

7] J—W/ mE ol
- L ol < PO I A S| odt--———--4 9|3
S AW ed - EER el , , ) )
D \ \ a. 1
e = O[T ji®i
s ) E
m . 2-6 X$E O YIRZ ’
2-X drill 8Y counter bore depth Z F LH 2-O Xtz 6 YRIFZ
s . oo . L 2-Xdrill 6Y counter bore depth Z
2 8 7 i5A/Mounting method A & 8 777%£B/Mounting method B
E{I/Unitmm E{I/Unitmm
i@ i%iﬁ A fﬁﬁ,ﬂ
BIR dAsha t Mountlng method B Mounung method B gk B {E A& [EECRNIE
Model No.| “17°" K e Bearin Snap rin
-0.007
-0.007
Fits ) E -0.02 S I F F06 6 34 60622
0.007 -0.02
FKO8 8 23 9 14 26 28 : 43 35 35 7 4 10 7 34 6 4 M3 14 -0.007
-0.02 FF10 8 12 7 5 28 43 35 35 34 6 4 60822 S8
-0.009 -0.02
FKIo 10 27 10 17 295 34 .0 52 42 4 75 5 85 6 45 8 4 M4 16 -0.009
e FF12 10 15 7 8 34 52 42 42 45 8 4 6000ZZ S10
-0.009 -0.025
FKI2 12 27 10 17 295 36 .. 54 44 44 75 5 85 6 45 8 4 M4 19 0009
FF15 15 17 9 8 40 63 50 52 55 95 55 600227 S15
-0.009 -0.025
FKI5 15 32 15 17 36 40 63 5 5 10 6 12 8 55 95 6 M4 22
R -0.009
-0.009 FF17 17 20 1 9 50 77 62 61 66 11 65 620322 517
FKI7 17 45 22 23 47 50 77 62 61 11 9 14 12 66 11 10 M4 24 -0.025
-0.025 0010
-0.010 FF20 20 20 1 9 57 : 85 70 68 66 11 65 620477 520
FK20 20 52 22 30 50 57 ..o 8 70 6 8 10 12 14 66 11 10 M4 30 -0.029
-0.010 FF25 25 24 14 10 63 0010 98 80 79 9 14 85 6205ZZ S25
FK25 25 57 27 30 60 63 _0'029 98 80 79 13 10 20 17 9 14 13 M5 35 -0.029 :
-0.010 -0.010
FK30 30 62 30 32 61 5 oo M7 9% 93 1 12 17 18 117 15 M6 40 FF30 30 27 18 9 e I B mo17s 620677 530
T REIFHEIEZETHE Surface Special treatment is available EZRMYEREIEZ TS Surface Special treatment is available

(04 www.pwdcn.com www.pwdcn.com [OIS]



www.pwdcn.com

AKE 51 (G727 2 [E 2 A)

Support Unit AKE

(fixed-side rectangular type)

#5%/ParkNo. | #B& &7#E/Park name

1 &7 FE 7 88 /Housing 1
2 1% /=) B #4147 /Bearing 148/1set
3 1212 B H7/Screw Holding lid 1
4 £Ef/Collar 2
5 iHES/Seal 1
6 $H[E 4208/ Lock nut 148/1set
W7~ A AR A4 R
7 Hexagon socket-head 1

Setscrew(with set piece)

FKE %51 (A A B AL E e Rl
Support Unit FKE

(fixed-side rectangular economy type)

#m5%/ParkNo. | #B& &#E/Park name

1 B 7 FE 7S 88 /Housing 1
2 1% o) B2 #4147 /Bearing 148/1set
3 1242 B H7/Screw Holding lid 1
4 £Ef&/Collar 2
5 iHt/Seal 1
6 $H[E 4208/ Lock nut 148/1set
W7~ A SR AR R
7 Hexagon socket-head 1

Setscrew(with set piece)

¥ OO —H,EDWENSRE
®@®@®as a whole,do not take them apart

% BHEMBTER, EH RS I {iE
SETEEEEIMax3000rpm X Y {# A
Max.3,000r.p.m with preload bearings.

2-O X#eF O YRIRZ

2-X drill 8Y counter bore depth Z B1
L2 L1 }@ aT
] | M
fr/f
PERESIRE |
CoJr == _T-] ! ] T
| =" = | | !
! hA ] kA I | |
| AR A _ | | !
| M_A R A - I
| i/\: ihj | I !
- - (B
L s LN H B
= F_A | F_7 N
Bl B N H1 o :
[ R : : |
— | [
b
L [
I
L2 j L2 |
4 —
I
I
L |

E{I/Unittmm

g IR
2 g
AKE 10 10 27 315 6 43 36 35 70 25 52 9 14 11 M10*1.0 16
AKE 12 12 27 315 6 43 36 35 70 25 52 9 14 11 M12%*1.0 19
AKE 15 15 29 36 5 49 41 40 80 30 60 11 17 15 M15*%1.0 22

ETRMEFKREIEZ 5T Surface Special treatment is available

(0] www.pwdcn.com

#* OGO —H,F I EDE
M@®®as a whole,do not take them apart

X BHEINETEE, EH AN AE
HEAEHEEEMax3000rpm X Py {E A
Max.3,000r.p.m with preload bearings.

M
N \( /
SEReii
o ,fpff\,\, Sy
== -
Dh7 RSl ERE d
ISR _— T B
| bAoA
L i e Al il
=l A4 | o4
P RS ) —
[P i (R
R
— PCD
I E 2- 6 XizF 6 YIIRZ
F H L1 2-Xdrill 8Y counter bore depth Z
RO3AT
L

E{I/Unitmm

LY
;ﬂ?ﬁ shaft M
Model No, “77 ---n S
20 34 26 26 55 35 34 3 1

FKE 05 5 16.5 6 10.5 18.5 6 M5*0.5

FKE 06 6 20 7 13 22 22 36 28 28 55 35 34 6 35 M6*0.75 12
FKE 08 8 23 9 14 26 28 43 35 35 7 4 34 6 4 M8*1.0 14
FKE 10 10 26 10 16 29.5 34 52 42 42 7.5 5 4.5 8 4  M10*1.0 16
FKE 12 12 26 10 16 29.5 36 54 44 44 7.5 5 4.5 8 4 M12*¥1.0 19
FKE 15 15 30 13 17 36 40 63 50 52 10 6 55 9.5 6  M15%1.0 22

ETRMFREIEZ 5TH Surface Special treatment is available

www.pwdcn.com IO



www.pwdcn.com

WBK-DF /DFD&! =157 & X #5 K

WBK-DF/DFD type support Unit

(heavy—1oad)

#5%/ParkNo. | #B& &7#E/Park name

1 &7 FE 7 88 /Housing 1
2 #h7%/Bearing 148/1set
3 [E#R/Holding lid 1
4 £Ef/Collar 2
5 iHES/Seal 2

WBK-DF/DFD

///// ///\\\\\\\
r-W/ TN \\\\’i

6Dgb
6d1H7
6D2
6D1

4-PdpPPCD BV
M immE (both sides)

6-0V 5% O YEBIRZ PCD OW
6-X drill 8Y counter bore
depthZPCD 6W

Shaft dlameter 6d<30

B 0d<30

6D3

$H [E| 1218

L1 L2
L
L
DF "HA DFD,.HA B{iI/Unit:mm
o L lolo el jule v e ol e
Model No.
WB K 20DF 106
WB K 25DF 25 85 130 920 66 33 18 100 110 11 17.5 11 57 4 70 M6 12
WBK  25DFD 25 8 130 9 8 48 18 100 110 11 175 11 57 4 70 Meé 12
WB K 30DF 30 85 130 920 66 33 18 100 110 11 17.5 11 57 4 70 M6 12
WB K 30DFD 30 85 130 90 81 48 18 100 110 11 17.5 11 57 4 70 M6 12
WB K 35DF 35 95 142 102 66 33 18 106 121 11 17.5 11 69 4 80 M6 12
WB K 35DFD 35 95 142 102 81 48 18 106 121 11 17.5 11 69 4 80 M6 12
WB K 40DF 40 95 142 102 66 33 18 106 121 11 17.5 11 68 4 80 M6 12
WB K 40DFD 40 95 142 102 81 48 18 106 121 11 17.5 11 68 4 80 M6 12

ETRMEFKREIEZ 5T Surface Special treatment is available

g8 www.pwdcn.com

Dimensions of shaft end

4-Pdp P PCD OV
i E (both sides)

6-0V 7 O YEHIRZ PCD OW
6-X drill 8Y counter bore
depthZPCD 6W

L Od<35
Shaft dlameter 6d<35
L L3
,,,,,,,,,,,,,,,,,, ‘M
L5

L4

starting torque

B i R ~T

ﬁﬁlilﬂl%llfé

L¢H

B{I/Unit:mm

#himR~F
Dimensions of shaft end

BlgE
Model No.

WBK 20DF
WBK 25DF
WBK 25DFD
WB K 30DF
WBK 30DFD
WB K 35DF
WBK 35DFD
WBK 40DF
WBK 40DFD

Lock nut
e

Ca(kgf)
21900 26600
28500 40500
46500 81500
29200 43000
47500 86000
31000 50000
50500 100000
31500 52000
51500 104000

2150
3150
4300
3350
4500
3800
5200
3900
5300

FIRFTE BEHE #AEBIE EHN
permlssnhle axial load PrT’I\;))ad Axla’\:;:jgr'l]dlty (‘N'cm)

1000
1470
1030
1520
1180
1710
1230
1810

ETRMFREIEZ 5TH Surface Special treatment is available

14.0
23.0
31.0
24.0
33.0
28.0
37.0
28.0
38.0

n

M20*1
M25%1.5 45
M25%1.5 45
M30*1.5 50
M30*1.5 50
M35%1.5 55
M35*1.5 55
M40%*1.5 60
M40*1.5 60

20
20
20
20
22
22
22
22

3.1
34
3.0
3.3
34
4.3
3.6
4.2

B8
Weight
]
1.9 20 81

23
25 89 26
25 104 26
30 89 26
30 104 26
35 92 30
35 107 30
40 92 30
40 107 30

www.pwdcn.com [



www.pwdcn.com

FKZ %I CEmE E )
Support Unit FK

(fixed—side rectangular type)

#m5R/ParkNo. | &Bm&FE/Park name #=/Qty
1 #h 7K E A< 38/Housing 1
3 [E#R/Holding lid 1
5 HEf/Seal 2
P75 F XTI A4 R ER
7 Hexagon socket-head 2

Setscrew(with set piece)

FK05~FKO08

1 1
T
! !
1

Deis
=

oDg6

T2 E

m E 2-6 Xifi%F O YIlRZ
2-X drill Y counter bore depthZ

2 & 77i%B/Mounting method B

2 & 77i%A/Mounting method A

B {I/Unitmm

=200 digr:el:er L H F A PCD lounting metho lounting metho X Y 7 T
Mt I

FKOS 5 165 105 185 0.007 3 M26 11
-ooz

F K08 0007 7
-0.02

ETRMEFKREIEZ 5T Surface Special treatment is available

] www.pwdcn.com

¥ EEhum A TR~ (&l E 8l) BKEY
Recommended end shape (Fixed-side)
for Support Units types

meieIe: : N\
Lﬂ@ﬁlﬁ | ;E

B{I/Unit:mm

ik RERIRAR EhHME R ERIME NRBIRA EfRE
Support unit model No. Ballscrew shaft OD Shaft support portion OD Metric screw thread Metric screw thread
BK 2! Type BK
-0 005
BK 12 14/15/16
-0.012
-0 005
BK 17 20/25
-0.014
-0 005
BK 25 32/36
-0.014
-0 005
BK 35
-0.015

www.pwdcn.com M3



www.pwdcn.com

g adum A0 TR~ (B E ) FK, EK, AKE!
Recommended shaft end shape (Fixed-side)
for Support Units types FK,EK,AK

~
= 6D 6d
(s}
S ]
R ]
P PR «Cs PR «Cy «C

IE LT B
FK B! FK B EK,AK 2!
Type FK Type FK Type EK,AK

B{I/Unit:mm

BIgR RIRIZIFEIME Euh ERAME YN L EfRE
Support unit model No. Ballscrew shaft OD | Shaft support portion OD Metric screw thread |Metric screw thread

FK 2! FKE 2! EK 2 AKZE  AKEZ!
Type FK Type FKE TypeEK TypeAK TypeAKE

-0 005

FK -06 FKE 06 EK 06 = 4 28 8 M6%*0.75
-0.012
-0 005

FK 10 FKE 10 EK 10 AK 10 AKE 10 12/14/15 10 Y M10*1
-0 005

FK 15 FKE 15 EK15 AK 15 AKE 15 18/20 e 12 47 20 M15*1
-0 005

FK 20 - EK20 AK 20 = 25/28/30 20 17 62 25 M20*1
-0 014
-0.005

FK 30 - 36/40 25 72 38
-0.015

gEs) www.pwdcn.com

¥ aze el 0 T R~F ([ £ {RI) FF, EF, BF, AFEY
Recommended shaft end shape (Fixed-side)

for Support Units types FF,EF,BF,AF

+0.0
0.2

6B

6D 6d

0.14
G -+o.oo

il FF & EF,AF,BF &
Type FF Type FF Type EF,AF,BF

E{I/Unitmm

RIRIZAR EH MR BhimAERIME ERRE
Support unlt model No. Ballscrew shaft OD Shaft support portion OD Metric screw thread
FF & EF & BF 2! AF #!
Type FF Type EF Type BF TypeAF
BF 08 -0 005
-0.012
-0 005
FF 12 EF 12 BF 12 AF 12 14/15/16
-0.012
-0 005
FF 17 BF 17 20/25 16.2 16 13.15
-0 014
-0.005
FF 25 BF 25 30/32/36 16.35
-0.014
-0 005
BF 35 40/45 18.75
-0.015

www.pwdcn.com [HES]



PrWo

www.pwdcn.com

S 5 R & € i 2] B o 25 3R

Reference of Axial load of fixed-side type support units

e e .
s e a=FE] B[] & 7] A5 PR 83 R
%/If)del Nf Bffzi?; Static load Attowable Axial Lirriting Rpm
9 (Kgf) load(Kgf) (RPM)
FK 06 EK 06 706C
BK 10 AK 10
7000A 239 195 27105
FK 10 EK 10
BK 15 AK 15
7002A 321 240 20800
FK 15 EK 15

BK 20 7004A 15730

FK 20 EK 20 7204B 10625

FK25 7205B 8980

BK 35 7207B 1714 1466 6400

W4 www.pwdcn.com

sHEIZNERI SRS E 3R

Reference of Lock nut type

- FERE SHE R Setﬁsijie%MEAX
Order Coding Surface treatment |MAX Torgue (kgf-cm) Torgue(kgf-cm)

RN 06 M6*P0.75 Blacgfilde 25 6(M3)
S me B,

RN 08 ME*P1.0 BIacglf(é(ﬁ)g;(lde 50 6(M3
o we B,

RN 10 M10%P1.0 BIac%fi(lde 95 6(M4)
e B,

RN 12 M12¢P1.0 Blac%ilde 140 15(M4)
T B,

RN 15 M15%P1.0 Blac%ilde 240 15(M4)
s B,

RN 17 M174P1.0 Blac%ilde 315 15(M4)
o B,

RN 20 M20%P1.0 Blac%gg;(lde 480 15(M4)
T B,

RN 25 V25415 Blac%gg;(lde 860 50(M6)
s B,

RN 30 M30%P1.5 BIacéfgg;(lde 1280 50(M6)
e B,

RN 40 A BIac%ilde 3000 50(M6)

www.pwdcn.com K]



U

Wo

www.pwdcn.com

& THK

BK 10

BK 15

BK 20

BK 30

BK 40

BF 12

BF 17

BF 25

BF 35

gK¢] www.pwdcn.com

IR RE R AR B SR R AR
Ballscrew support unit equivalent interchangeable
for major manufacturer

EK 5 _ _

EK 8 BSW 8 WBK 08-01A
EK 12 BSW 12 _

EK 20 BSW 20 _

EE 8 BUN 8 WBK 085-01
B 12 BUN 12 _

18] 20) BUN 20 _

AK 10 BSW 10 WBK 10-01A
AK 12 BSW 12 WBK 12-01A
AK 15 BSW 15 WBK 15-01A
AK 17 _ WBK 17-01A
AK 25 BSW 25 WBK 25-01A
AF 10 _ WBK 10S-01
AF 15 _ WBK 155-01
AF 20 WBK 20S-01

FK 5 _ _

FK 8 BRW 8 WBK 08-11

FK 12 BRW 12 WBK 12-11

FK 17 _ —

FK 25 BRW 25 WBK 25-11

FF 06 BUR -6 _

RENLZ BUR -12 _

EF 17 _ —

IFIF 25 BUR -25 _

N-TYPE FREREIE MELHEER (PHHEEIE)

INBURESRERTE A For compact ball screw

INBIRESRERITE A For compact ball screw

AK 251
(FFFE E D
Support Unit

AK

AK-B 32

AK-N #EBARIR

FK &%l
CERAE E A
Support Unit FK

FK-B 32

FK-N #EERRIR

AF Z7|
(HR 5D
Support Unit

AF

K
i

AF-B S22

AF-N SEERRER

FF 2%
CERZ 54D
Support Unit FF

FF-B 2

FF-N SEERRE

BK &7
(HFREERD
Support Unit

BK

BK-B 2

BK-N L5

AKE %751
(8T & E )
Support Unit AKE

=
<

AKE-B %2

AKE-N #EEAEER

BF %7
(R ZAEAD
Support Unit

BF

FKE Z%I]
(457 A R E 2 12)
Support Unit FKE

BF-B 2 BF-N fEERFR FKE-B 2 FKE-N EZEfs5
EK %31 WBK-
(O EE ) DF/DFD #Y
Support Unit EK ‘ ‘ (ST EXI5EE)
WBK-DF /DFD
type Support Unit
EK-B B EK-N fEEMRER WBK-DF/DFD-B 32 ERLARER
EF 7l INBIFK &5
(a2 #5480 FK05-FK08
Support Unit EF 0l CERAEZEAD
Support Unit FK
EF-B H2 EF-N HEEFER FK-B 332 FK-N BRI

mi LR~TE P14~P16

15 BE B E im e B 2 E R P17

SHEIRIEAIE S5 %P1
R P21

www.pwdcn.com A



PWo

www.pwdcn.com

RIEIEFF
& 1% B E i 3 5 BRI B AR A A
o IR K B
o )URIRIE T

¢ 2R ENE T in R SHE B IR SR R A HL B L, T A NN AL
$HE

o 1 [ 5 i S0 6 B8 v BN G [ R N, % DA v B 7 1 57
o FERFIRER ST T, wf B M HA A%

¢ {5 2 umEh AR BLIZ AR B A & 06 A CEVNIRE E, B HE N i im X EN

¢ £ RIRIRIZAR E E i i BE 1T E A 2
o TEBRAR IS 2 IR

¢ £ 8 37 15 umEh im 8 5] 5 B
o7 1.2 1515

AN www.pwdcn.com







	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

